

Massachusetts Institute of Technology

Department of Physics

Course: 8.701 – Introduction to Nuclear and Particle Physics

Term: Fall 2020

Instructor: Markus Klute

TA : Tianyu Justin Yang

Discussion Problems

from recitation on **October 7th, 2020**

Problem 1:

Show that the adjoint spinor \bar{u} and \bar{v} satisfy $\bar{u}(\gamma^\mu p_\mu - m) = 0$ and $\bar{v}(\gamma^\mu p_\mu + m) = 0$.



$$(\gamma^\mu p_\mu - mc)u = 0 \implies u^\dagger(\gamma^{\mu\dagger} p_\mu - mc) = 0 \implies u^\dagger(\gamma^{\mu\dagger}\gamma^0 p_\mu - \gamma^0 mc) = 0.$$

But $\gamma^{\mu\dagger}\gamma^0 = \gamma^0\gamma^\mu$ (see below), so $u^\dagger\gamma^0(\gamma^\mu p_\mu - mc) = 0$, or $\bar{u}(\gamma^\mu p_\mu - mc) = 0$.

Similarly, $(\gamma^\mu p_\mu + mc)v = 0 \implies \bar{v}(\gamma^\mu p_\mu + mc) = 0$ (same as above, with sign of m reversed).

Proof that $\gamma^{\mu\dagger}\gamma^0 = \gamma^0\gamma^\mu$:

$$\gamma^{0\dagger} = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}^\dagger = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \gamma^0, \text{ so it holds for } \mu = 0.$$

$$(\gamma^i)^\dagger = \begin{pmatrix} 0 & \sigma^i \\ -\sigma^i & 0 \end{pmatrix}^\dagger = \begin{pmatrix} 0 & -(\sigma^i)^\dagger \\ (\sigma^i)^\dagger & 0 \end{pmatrix}.$$

But $(\sigma^i)^\dagger = \sigma^i$:

$$(\sigma^1)^\dagger = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}^\dagger = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} = \sigma^1;$$

$$(\sigma^2)^\dagger = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix}^\dagger = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix} = \sigma^2;$$

$$(\sigma^3)^\dagger = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}^\dagger = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \sigma^3.$$

So $(\gamma^i)^\dagger = \begin{pmatrix} 0 & -\sigma^i \\ \sigma^i & 0 \end{pmatrix} = -\gamma^i$. But γ^i anticommutes with γ^0 , so $\gamma^i\gamma^0 = -\gamma^0\gamma^i$.

Therefore $(\gamma^i)^\dagger\gamma^0 = -\gamma^i\gamma^0 = \gamma^0\gamma^i$. So it holds for $\mu = i = 1, 2, 3$ also. ✓

Problem 2:

Show that the normalization condition simplifies to $\bar{u}u = -\bar{v}v = 2m$.

•

$$\bar{u}u = u^\dagger \gamma^0 u = N^2 (u_A^\dagger \ u_B^\dagger) \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} u_A \\ u_B \end{pmatrix} = N^2 (u_A^\dagger u_A - u_B^\dagger u_B).$$

In particular, for $u^{(1)}$:

$$\begin{aligned} \bar{u}u &= N^2 \left[(1 \ 0) \begin{pmatrix} 1 \\ 0 \end{pmatrix} - \frac{c^2}{(E + mc^2)^2} (p_z \ (p_x - ip_y)) \begin{pmatrix} p_z \\ p_x + ip_y \end{pmatrix} \right] \\ &= N^2 \left[1 - \frac{c^2}{(E + mc^2)^2} (p_z^2 + p_x^2 + p_y^2) \right] = \frac{N^2}{(E + mc^2)^2} [(E + mc^2)^2 - c^2 \mathbf{p}^2] \\ &= \frac{(E + mc^2)}{c} \frac{1}{(E + mc^2)^2} [E^2 + 2Emc^2 + m^2c^4 - c^2 \mathbf{p}^2] \\ &= \frac{1}{c(E + mc^2)} (2Emc^2 + 2m^2c^4) = \frac{1}{c(E + mc^2)} 2mc^2(E + mc^2) = 2mc. \checkmark \end{aligned}$$

$$\begin{aligned} \bar{v}v &= N^2 \left[\frac{c^2}{(E + mc^2)^2} ((p_x + ip_y) \ -p_z) \begin{pmatrix} p_x - ip_y \\ -p_z \end{pmatrix} - (0 \ 1) \begin{pmatrix} 0 \\ 1 \end{pmatrix} \right] \\ &= N^2 \left[\frac{c^2}{(E + mc^2)^2} (p_x^2 + p_y^2 + p_z^2) - 1 \right] = \frac{N^2}{(E + mc^2)^2} [c^2 \mathbf{p}^2 - (E + mc^2)^2] \\ &= \frac{(E + mc^2)}{c} \frac{1}{(E + mc^2)^2} [c^2 \mathbf{p}^2 - E^2 - 2Emc^2 - m^2c^4] \\ &= \frac{-1}{c(E + mc^2)} (2Emc^2 + 2m^2c^4) = \frac{-1}{c(E + mc^2)} 2mc^2(E + mc^2) = -2mc. \checkmark \end{aligned}$$

MIT OpenCourseWare
<https://ocw.mit.edu>

8.701 Introduction to Nuclear and Particle Physics
Fall 2020

For information about citing these materials or our Terms of Use, visit: <https://ocw.mit.edu/terms>.